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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udignedl Gauem 319+ U9 US W AR SAtHarEa: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) avt v 3o A afer |

All the questions are compulsory.
3) Uk U¥H T ITW & TS I-Yferent | & ford |

Write the answer to each question in the given answer-book only.
4) o v o i g §, 37 @it & W U | g o)

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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5)

6)

7

8)

9)

2
v U & R @ 3t T @ foedt yeew i gfe / e / fedienymm @9 w =) s
% U9 W § TG T

If there is any error / difference / contradiction in Hindi & English versions

of the question paper, the question of Hindi version should be treated valid.
T T IW @ | gd T3 T HATR avE for|

Write down the serial number of the question before attempting it.

Y HIR 17 | 23 e § e foehed

There are internal choices in Question Nos. 17 to 23.

U IT-GTETehT & TSI o GHT IR foaRan| afg g I HE HE g, A SW-YIETeht &
aifem gst W 3R 3% fovst oimet | Fea A W T wE forw 3|
Write on both sides of the pages of your answer-book. If any rough work

1s to be done, do it on last pages of the answer-book and cross with slant

lines and write ‘Rough Work’ on them.
9 HATeR 21 T SRETE TE U0 W SA150)
Draw the graph of Question No. 21 on graph paper.
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GvuE - A

SECTION - A
(aegfs wd afregaues wA)

(Objective and Very Short Answer Type Questions)

1) = o awl & S w ad fowen T 9 SW gitre | folau)

Answer the following questions and write them in the answer book by selecting the correct option.

) @gae P(x)=(3-x)(x—4) M@ - [1]
H) 2 q) 4
@) 0 3 3

The degree of the polynomial P(x)=(3—x)(x—4) is-
A) 2 B) 4
G 0 D) 3

ii) afe 6 UGt aTeN Tk TR NG H1 GUH qAT HAH U THA: 2 920 10 g, 99 THR ISt

TNEA @ — [1]
A 72 9) 36
a) 135 Q) 24

If first and last term of an arithmetic progression having 6 terms are 2 and 10 respectively,
then sum of arithmetic progression is -

A) T2 B) 36

C) 135 D) 24
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iy fog P(5,—4) R x-amraghe - [1]
A) S | 0
q) 4 3 16

The distance of the point P (5, —4) from x-axis is -

A) 5 B) 0
C) 4 D) 16
iv) e d 9 sufdm v @ - [1]
A 2 ) 2.232425....
|) 223 7 223

Which of the following is an irrational number?

A) 2 B) 2.232425....
¢ 223 D) 223
V) k' form um o foru fem Waes wdieton & gm o g g T8 27 [1]

3x+y=1L(2k—-1)x+y=2k+1

) 2 /) 1

| 3 3 4

For which value of £, the following pair of linear equations has no solution?
3x+y=1 (2k—1)x+y =2k +1

A) 2 B) 1

G 3 D) 4
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vi) Tt fam wlieot ax? +bx+c=0 % I At A8 8, 9 - [1]
) b2—4ac>0 q)  b*—4ac=0
q)  p>—dac<0 3 b’—dac>0

Roots of any quadratic equation a x> +bx+c=0are not real, if
A) b*—4ac>0 B)  b*—4ac=0
C)  b?-4dac<0 D)  p?—dac=0

vii) farget A(x+4,y+5) @ B(6—x,3—y) @ fem ot Wemave & wea fomg 3 fdene § -
(1]

) (xy) q)  (5,4)

5 4
|)  (x+5 y+4) ) (E’Ej

The coordinates of the midpoint of line segment joining the points A(x+4,y+5) and

B(6—x,3—y) is-

A (xy) B) (5.4
5 4

@) (x+5,y+4) D) (E’Ej
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, 1
viii) =fe SmA:E 2, @ 2sinAcosA H ARG - [1]
1 J3
oy R
1
|g) 1 3) NG

) 1
If sinA :E , then value of 2sin Acos A is -

1 V3
Ao Y
1
c 1 D) ﬁ
. 2tan 30° S .
x) 1—tan?30° 1]
1
) 5 9) 1
| 0 ) 3
The value of % 18 -
1—tan” 30°
1
A) \/5 B) 1
c 0 D) \/5
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X) ek UTH hl Ueh SR Urehl ITAT g1 TS TN <hl UTH A <l Wfrehar @ - 1]
1 2
AH) > o) 3
| 0 3 1

A die is thrown once. The probability of getting a prime number is -

A) % B) 3
) 0 D) 1
xi) 3RSt 2, 0,7, 3,4, 8, 1 & HIETE g - [1]
@) 3 | 4
| 7 3 2
Median of data 2,0, 7, 3,4, 8, 11is -
A) 3 B) 4
c) 7 D) 2
xii) afe FrafeRaa stiest fit aaraet & T 60 @, @ x ® AR g - [1]
ot 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
TR 5 x 20 15 7 5
H) 7 ) 8
| 15 7 20

If the sum of frequency of following data is 60, then the value of x is -

Class 0-10 | 10-20 | 20-30 | 30-40 [ 40-50 | 50-60
Frequency 5 X 20 15 7 5
A) T B) 8

Cc) 15 D) 20
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2) Trafeitaa woAt # ek T A gid @ e Swytean § foRen)

Fill in the blanks in the following questions and write them in the answerbook.

i)

1ii)

1v)

vi)

freforftaa TR 9 |, fes ol & udl @ feflam) [1]

1
s [ 9

In the following Arithmetic Progression, write the missing terms in the boxes.

1
s[5

. a a ¢ .
W wriewor gm ax+by+c =0 3R ayx+b,y+c, =0 ® 3G EIZb—2=C—1 g @@
pI)
feftmyem 2 [1]
In pair of linear equations ¢;x+by+c; =0 and a,x+b,y+c¢, =0, if % = Z—Z =a , then
| pI)

lines represented are

7.5 Ot T WS i 2:1 # fawiia A W 92 9T 6 o [ et [1]
A 7.5 cmlong line segment is divided in the ratio 2:1, then the length of large portion will be

cm.
fargati (3, - 2) @ (4, 5) I TS AT TERGUE Ht TTaTg 2l [1]

The length of a line segment joining points (3,—-2) and (4,5)is
cos48°—sin42° WMUHR R [1]
The value of cos48°—sin42° jg

frafefan stfewst @ @gers e [1]
2,6,4,5,0,2,1,3,2,3

Mode of following data is

2,6,4,5,0,2,1,3,2,3

S—-09-Mathematics 6005



3)

fd TTgRICHS T |

Very short answer type questions.

i)

1v)

vi)

vii)

viii)

e 72 R 120 w wgad guuEs (LCM) 7 Sifku) [1]

Find the least common multiple (LCM) of numbers 72 and 120.
T fgam agug 7 i, Rrerk Ikl S A qe UHESA HET: - 3 3R 2 2 [1]

Find a quadratic polynomial, the sum and product of whose zeroes are —3 and 2 respectively.
TG P(x)=2x" —2x—8 % IEH 7 ATl [1]

Find the zeroes of the polynomial P(x)= x> —2x-8.

5 uf=ret 3R 7 R 1 et Ged < 50 B, e 7 afet 3iR 5 U7 o Fel g < 46 31 59 aHEn
=t ek Trfieon & g g wehia Aifm [1]

5 pencils and 7 pens together cost X 50, whereas 7 pencils and 5 pens together cost X 46.
Express this problem by the pair of linear equations.

(x=2)—x=3x(x—2) =i fgama aieo & wu # faRan) [1]
Write (x—2)—x=3x(x—2) in the form of quadratic equation.

5 Bt TS i Ush TETEUE Wi 36 TGN ShitTe| [1]
Draw a line segment of length 5 cm and bisect it.
foama wfemor 3x% —8x—16 =0 % Gl i Tehfd 7 Hifvm) [1]

Find the nature of roots of quadratic equation 3x> —8x—16=0.

afg fog Q (0, 1), fagatt P (5, — 4) 3R R (x, 6) 1 AEATS] ¢, 79 x 1 A 7 hierel [1]

If point Q (0O, 1) is midpoint of the points P (5, —4) and R (x, 6), then find the value of x.
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4)

3)

6)

7

10
ix)  2tan?45°+cos> 30°—sin’ 60° 1 A A R

Find the value of 2tan” 45°+cos” 30° —sin” 60° .

(1]

X) Uk I H 3 @A SR 5 et A Fl 39 99 6 ¥ Uk g Argesm Feweh A 21 gEeh w=n

iR 2 foh @18 Tig ot Rt ?

[1]

A bag contains 3 red and 5 black balls. A ball is drawn at random from this bag. What is the

probability that the drawn ball will be red?
xi) &fe tanA =cotB,dd A + B &1 AH [a hifu)
If tan A =cot B, then find the value of A + B.

xil) & 6, 11,21, 23, 14, 5 o1 HIEA A1 hHifew)
Find the mean of distribution 6, 11, 21, 23, 14, 5.

G s - 9
SECTION - B

TR 9 : 10, 7, 4, ....., — 32 % UGl Y T [ i)
Find the number of terms of AP : 10, 7, 4, ..., — 32.

9o 200 &F YuTiehi S TNTHA ATG hifeT)

Find the sum of first 200 positive integers.

faama afiemur x2 —8x—180=0 % U A HifeTg|

Find the roots of quadratic equation y2 —8x—180=0-

=1 e wfieror gm @t g Fifu
x=3y=T7 ; x+4y=14
Solve the following pair of linear equations :

x=3y=T7 ; x+4y=14
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8)

9)

10)

11)

12)

13)

14)

11
A T3 616 3N 32 T AgWH F@HGEAAS (HCF) F hifu) [2]

Find the highest common factor (HCF) of two numbers 616 and 32.

w fgama agug 7w R, ek s (3 qen — 3 2 [2]

Find a quadratic polynomial, whose zeroes are /3 and — J3.

fargatt (5, - 6) 3R (- 1, — 4) i SIS A TEREUE H y-3& foFe srquma # fawiima a8, @
g 2]

Find the ratio, in which y-axis divides the line segment joining the points (5, —6) and (- 1, —4).

7.6 A T Ueh {@REVE Tirg 3R 38 1:2 ® fawsa fifkm) [2]

Draw a line segment of length 7.6 cm and divide it into ratio 1:2.

) 3
It smA=§ &, 99 tan A+cos A T HH T Hifu) [2]

If sinA = % , then find the value of tan A+cosA .

g AT : (secA+tanA)(1-sinA)=cosA. [2]

Prove that : (sec A+tan A)(1-sin A)=cosA.

= aERaT sea @ Wew 7| R [2]
X 0 4 8 12 | 16 | 20
f 1 3 5 4 2 1
Find the mean of the following frequency distribution :
X 0 4 8 12 116 | 20
1 3 5 4 2 1
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15) ffciRaa aearar sea @ ‘iR & YRR o ¢4 H 9eieTt ¢ [2]

T A 50-55 | 55-60 | 60-65 | 65-70 | 70-75 | 75-80

FREERAT 2 8 12 24 38 16

Change the following frequency distribution to ‘more than’ type distribution :

Classinterval| 50-55 | 55-60 | 60-65 | 65-70 | 70-75 | 75-80

Frequency 2 8 12 24 38 16

16) 3t Raemsl A 3it B 2@ o1 Uk %9 @erd §1 78 7 ¢ o6 A % #= Sfiem < wfdresan 0.62 §1 B % #
S <t I SRR 87 [2]
Two players, A and B play a tennis match. It is known that the probability of A winning the match
is 0.62. What is the probability of B winning the match?

@ us - |
SECTION - C

17) afe forelt TaTR 9E & 92W 16 USt 1 AT 728 @ a1 UMW US 8 §, A« 20 9 US A hifwu|  [3]
If the sum of first 16 terms of an Arithmetic Progression is 728 and first term is 8, then find the 20™
term.

FAUat/OR
gfa forelt TATR 9 & T2W 1 UG1 T AEA 4n — 12 3, a9 THH 10 i US [ hifeTu) [3]

If the sum of first n terms of an Arithmetic Progression is 4n — n?, then find its 10" term.

18) 5 &t Yo ATt Uk THATR B % AuEd B @i e R e gen g ™ Bye & @@

L2 .
gmaﬁa‘?fg@l [3]

2
Construct a triangle similar to an equilateral triangle of side 5 cm, with its sides equal to 3 of the

corresponding sides of the given triangle.

FAYAT/OR
5 At oo & U g9 W UE 3t Tt e S, St uER 60° % i W g gl [3]
Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each other at an angle of

60°.
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19) fog fifso : [3]

tan 49° tan 24° tan 60° tan41° tan 66° = \/§

Prove that :

tan 49° tan 24° tan 60° tan41° tan 66° = \/5

FAUat/OR
Eﬁﬁ{q Lt+sin A =secA+tan A
fra “\1-sinA [3]
Prove that : 1+s?nA =secA+tan A
"\V1-sinA
20) frafeiaa afia iRl @1 wicua mea fafd g wea 7 ik - 3]

T SATA 0-10 | 10-20 | 20-30 | 30-40 | 40-50

AERAT 2 5 8 4 1

Find the mean of the following grouped data using the assumed mean method :

Classinterval | 0-10 [ 10-20 | 20-30 | 30-40 | 40-50

Frequency 2 5 8 4 1

AYAT/OR

= AR SR 1 ageTeh A I [3]

T A 10-20 | 20-30 | 30-40| 40-50 | 50-60

FRERAT 12 20 25 22 10

Find the Mode of following frequency distribution :

Class interval | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Frequency 12 20 25 22 10
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©Us - §

SECTION - D

21) = Raew wrfieor gm @t s faft g ge A [4]

x+y=8 ; y=2x-7

Solve the following pair of linear equations by graphical method :
x+y=8; y=2x-7

Uar/OR

e g witem 3w = serd By grn ge Sif [4]
3x-2y=9 ; x=y+2

Solve the following pair of linear equations by graphical method :

3x=2y=9 ; x=y+2

22) uw BYS ABC sA1su, few 9= BC = 6 @i, AB = 5 @t 3it ZABC=60° g TR we fgw

1 v e, Rl g A ABC 1 s i A1 4]

Draw a triangle ABC with sides BC = 6 cm, AB = 5 cm and £ZABC=60° . Then construct a

3
triangle, whose sides are — of the corresponding sides of the triangle ABC.

4

AUar/OR
8 Tt =T\ N Uk I W] 39k g | § Wt R R v g @ 9w Wyl W gm i @
I 3R Rt gt Aive| [4]

Draw a circle of diameter 8 cm. From a point 8 cm away from its centre, construct a pair of
tangents to the circle and measure their lengths.
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23) = 03 @ Tea W Weaek A A [4]

T e | 1-4 | 4-7 | 7-10|10-13{13-16|16-19

TRERAT 6 30 | 40 16 4 4

Find the median of the following distribution :

Class interval 1-4 | 4-7 | 7-10{10-13|13-16(16-19

Frequency 6 30 | 40 16 4 4

AYAT/OR

T i it 75 uttEt @ onargal Ferean fueh Wied # At S @ qen uw eiiehst ot afaiRaa
AR & w9 # Fsfud fra s [4]

@&TE (mm) 19 |11-19 [21-29 [31-39 |41-49 |51-59

g R g | 6 10 12 22 17 8

ufvrt i g H TgER T Rt

The lengths of 75 leaves of a plant are measured correct to the nearest millimetres and the data
obtained are represented in the form of following table :

Length (mm) 1-9 | 11-19]21-29| 31-39| 41-49| 51-59

Numbers of leaves 6 10 12 22 17 8

Find the mode of the leaves length.

363636
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